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1. BXBOEREIS

(1E)
(BT : %)
5~ 30~ 100~ 500~ 1,000 A
E R X a4 W 2ANLLF 3ANAA 29N 99N 499 A 999 A D

w % 49.4 15.3 28.2 4.9 1.8 0.2 0.2 100.0
=3 R 7K BE ES 45.4 20.5 31.3 2.3 0.4 0.0 0.0 100.0
B - B ¥ W ORI BRI 34.3 13.9 42.9 7.2 1.5 0.1 0.1 100.0
<3 * ES 43.4 19.9 33.7 2.5 0.4 0.0 0.0 100.0
B:d & E3 37.5 13.6 34.8 9.4 3.8 0.4 0.3 100.0
FR A BHEAG -kE ¥ 51.7 15.9 25.6 4.3 1.9 0.2 0.3 100.0
1% T b} 1z ES 54.4 11.4 23.8 6.8 3.0 0.4 0.3 100.0
I O S 26.8 10.1 44.3 13.4 4.5 0.4 0.4 100.0
E| T N ¥ 53.9 15.5 24.7 4.0 1.5 0.2 0.2 100.0
& o - R B 3 58.0 15.7 18.9 3.4 2.7 0.5 0.7 100.0
N E - B OE ¥ 81.7 8.9 7.8 1.1 0.4 0.0 0.0 100.0
RN FIE - PR Y — e R ¥ 63.9 13.8 19.4 2.2 0.7 0.1 0.0 100.0
G wmom % 56.1 16.8 22.6 3.2 1.1 0.1 0.1 100.0
A TG B — B R R 53.8 15.4 25.3 4.2 1.2 0.1 0.1 100.0
BHE - ¥ B X B OE 51.7 14.0 27.4 5.3 1.3 0.2 0.1 100.0
%= U fih Ak 22.8 16.7 46.4 9.5 4.1 0.4 0.2 100.0
#woAa Y — v 2 ¥ 58.1 14.0 18.3 4.3 4.0 0.9 0.4 100.0
— |5 2 E 48.6 15.8 27.8 5.2 2.1 0.3 0.2 100.0

A % 37.2 12.1 29.2 10.7 8.7 1.5 0.7 100.0

(38)
(BT : %)
5~ 30~ 100~ 500~ 1,000 A
E R X a4 W NS 3AAA 29N 99N 499 A 999 A D

w % 49.5 15.3 28.2 4.9 1.8 0.2 0.2 100.0
=3 R 7K BE ES 45.4 20.5 31.3 2.3 0.4 0.0 0.0 100.0
BnE - B ¥ - W ORI BRI 34.3 13.9 42.9 7.2 1.5 0.1 0.1 100.0
<3 & ES 43.4 19.9 33.7 2.5 0.4 0.0 0.0 100.0
B:d & E3 37.5 13.6 34.8 9.4 3.9 0.4 0.3 100.0
FR A BPEAG - kE ¥ 51.7 15.9 25.6 4.3 1.9 0.2 0.3 100.0
1% T b} 1z ES 54.4 11.4 23.8 6.8 3.0 0.4 0.3 100.0
I O S 26.9 10.1 44.3 13.4 4.5 0.4 0.4 100.0
E| T N ¥ 53.9 15.5 24.7 4.0 1.5 0.2 0.2 100.0
& o - R B 3 58.0 15.7 18.9 3.4 2.7 0.5 0.7 100.0
NoE)E - B OE ¥ 81.7 8.9 7.8 1.1 0.4 0.1 0.0 100.0
RN FIE - PR AT — e R ¥ 63.9 13.8 19.4 2.2 0.7 0.1 0.1 100.0
G wmom % 56.1 16.9 22.6 3.2 1.1 0.1 0.1 100.0
A TG B — B R ¥ R 53.8 15.4 25.3 4.2 1.2 0.1 0.1 100.0
BHE - ¥ B X B OE 51.7 14.0 27.4 5.3 1.3 0.2 0.1 100.0
%= U fih Ak 22.8 16.7 46.4 9.5 4.1 0.4 0.2 100.0
#woAa Y — v 2 F ¥ 58.1 14.0 18.3 4.3 4.0 0.9 0.4 100.0
— |5 2 E 48.6 15.8 27.8 5.2 2.1 0.3 0.2 100.0

A % 37.2 12.1 29.2 10.7 8.7 1.5 0.7 100.0
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(1E)
(BT : %)
; 5~ 30~ 100~ 500~ 1,000
E R X a4 W 2ANLLF 3ANAA 29N 99N 499 A 999 A }\u Ll & &

w %% 3.2 3.2 18.5 15.3 22.2 8.6 29.1 100.0
=3 i 7K E ¥* 8.0 10.7 46.2 16.7 10.8 3.0 4.6 100.0
B - B ¥ ORI BRI 1.9 2.9 30.8 21.1 16.9 4.0 22.3 100.0
H B4 ¥ 6.8 8.9 43.6 15.4 10.0 3.4 11.9 100.0
-0 & ES 1.3 1.5 13.1 15.6 24.1 8.9 35.5 100.0
TR WA B - K E 1.9 2.2 11.2 9.2 16.0 5.6 53.8 100.0
1% T b} 1z ES 2.3 1.7 11.9 15.3 24.9 10.5 33.4 100.0
I oo 0.7 0.9 14.9 18.0 22.8 7.4 35.2 100.0
HE| T ANaE % 3.7 3.5 17.2 13.7 20.7 8.9 32.3 100.0
& ®moo- R B ¥ L1 1.0 3.6 3.7 11.8 7.3 71.4 100.0
NoE)E - B ¥ 16.3 6.7 17.7 13.1 17.0 7.9 21.3 100.0
SRR RIS - B P AT — e R 3 9.4 6.6 27.2 15.7 18.8 7.0 15.4 100.0
G moon ¥ 5.4 5.1 20.7 14.4 19.5 8.5 26.5 100.0
A VS B HL Y — B R R 5.2 4.8 25.0 19.4 21.1 7.1 17.4 100.0
BHE - ¥ B X B OE 4.0 3.5 24.7 18.8 17.4 10.3 21.4 100.0
= U & ik 1.1 2.4 20.7 20.4 33.1 10.3 12.1 100.0
w5 v — v 2 HF ¥ 1.9 L5 6.3 7.6 31.6 18.8 32.2 100.0
— |5 2 E 2.5 2.6 14.4 13.2 20.8 9.0 37.5 100.0

A % 0.6 0.8 6.6 11.6 37.0 20.5 22.9 100.0
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E R X a4 W NS 3ANAA 29N 99N 499 A 999 A }\u Ll & &

® %% 3.2 3.2 18.5 15.3 22.2 8.6 29.1 100.0
=3 S 7K E ¥* 8.0 10.7 46.2 16.7 10.8 3.0 4.6 100.0
B - B ¥ ORI BRI 1.9 2.9 30.8 21.1 16.9 4.1 22.3 100.0
H B4 ¥ 6.8 8.9 43.6 15.4 10.0 3.4 11.9 100.0
-0 & ES 1.3 1.5 13.1 15.7 24.1 8.9 35.5 100.0
B - A B KB ¥ 1.9 2.2 11.2 9.2 16.0 5.6 53.8 100.0
1% T b} 1z ES 2.3 1.7 11.9 15.3 24.9 10.5 33.4 100.0
I oo 0.7 0.9 14.9 18.0 22.8 7.5 35.2 100.0
E) AR N A 3.7 3.5 17.3 13.7 20.7 8.9 32.3 100.0
& @ R B 1.2 1.0 3.6 3.7 11.8 7.3 71.4 100.0
N E - B OE ¥ 16.3 6.7 17.7 13.1 17.0 7.9 21.3 100.0
SRR RIS - B P AT — e R 3 9.4 6.6 27.2 15.7 18.8 7.0 15.4 100.0
G s ¥ 5.4 5.1 20.7 14.4 19.5 8.5 26.5 100.0
A VS B HL Y — B R R 5.2 4.8 25.0 19.4 21.1 7.1 17.4 100.0
BHE - ¥ B X B OE 4.0 3.5 24.7 18.8 17.4 10.3 21.4 100.0
= U i) ik 1.1 2.4 20.7 20.4 33.1 10.3 12.1 100.0
w5 v — v 2 HF ¥ 1.9 L6 6.3 7.6 31.6 18.8 32.2 100.0
— |5 2 E 2.5 2.6 14.4 13.2 20.9 9.0 37.5 100.0

A % 0.6 0.8 6.6 11.6 37.0 20.5 22.9 100.0




